Worksheet - Lecture 2
Introduction to Linear Algebra Part Two

L. Use the following matrices or vectors to answer the following questions:
1 3 8 100
A=13 0 -2 M:Gg_lz g) D=|050
8§ -2 -3 003

¥ = u=(6 4 8 1)

a. Write the following matrices or vectors:

| 2
M= [§ % vi= (b3 -12)

2
571

A'= /| 3 g wr= [b

3 0 -2 1

3 -2 -3 i

l

(MT)T: -
(57 7)

b. Which of these matrices is symmetric? A D
J

c. Can a rectangular matrix be symmetric? AT cannod eaual A unless
there matrices have +he same Size |
d. What is Tr(A)?
Tr(A)= 1 +0+(-3)= -2
e. If possible, compute Tr(M). If not possible, explain why.

not possible. Trace i< only defined for
Square matrices
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2. Write out the following matrices or vectors:

I, = \ 0
o |\

diag{cq, 02,03} = o, O O
0O o7 O
o O J;

3. If a matrix M is upper triangular than M’

O

4. If S is a diagonal matrix, then S, =

is
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